5.
What problems did English face as a vernacular during Renaissance? 

3

English as a vernacular faced three problems.

1. The Struggle for Recognition

2. The problem of Orthography

3. The Problem of Enrichment
6.
What is meant by “Ciceronianism” and why did it fail?



5

Some writers became over-zealous and attempted to reform Latin Prose on the style to Cicero. This attempt was called “Ciceronianism”.

Why did Ciceronianism fail?

1. Substituted the natural and spontaneous form of expression. 
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2. The vocabulary of Cicero was inadequate for the conveyance of modern ideas, 

3. There was no hope of being able to surpass one’s model. So the writers lost their heart.

4. Because of the Protestantism English preferred using their own language.

7.
Why did Mulcaster declare that it was difficult to drastically change the spelling of English during the early Modern Period?






5

1.
The difference between one sound and another were often too subtle. 

a.
It is inevitable that the same letter must sometimes be used for different sounds, 

b.
But worse still was using the same word in different senses.
2.
The pronunciation constantly changes.

3.
The practical reason was that the system was too inconvenient to be accepted. 

8.     What led to the introduction and opposition of “Inkhorn Terms” during the Renaissance? 
3


The wholesale borrowings of Latin into English were dubbed as Inkhorn Terms by quite a few of nationalist like Sir John Cheke and Sir Thomas Hobby (known as “purists”). They considered the use of learned words as mere pedantry and ridiculed them. 

The strongest objection to them was that they were unfamiliar to the common man and hence were obscure. 

9.      What method came to be used during the Renaissance to borrow vocabulary from Latin?    3


1. Unlike German, Scandinavian and French, Latin influences, except for the earliest, have been the work of scholars and churchmen.  Most often the words are of scholarly nature, but even if they have not been so, the scholarly works or writings always spread them. 

2. Even the words borrowed from other Romance languages have come through books. 

3. Words that were revived from the native sources were also first used by writers. As a result, it is easier to trace the word origin during Renaissance. 
10.
What method was used to interpret the new words into the English Language during the Renaissance?
2


1. The context or the reader’s knowledge of Latin was expected to make the meaning clear. 

2. The interpretation was not left entirely on chance and explanations were sometimes added parenthetically.
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السلام عليكم بنات كيف المذاكره 
 
اكيد وبلا شك ممله مرررررررررررررره 
 
الله يوفق الجميع  
 
المختصر المفيد .... هذي اسئله العام حقت النهائي + الشهري متنوعه  ...........تاريخ اللغة .....
 
يارب تفيدكم ... 
 
طبعا" انا بقولكم ارقام الصفحات إلي بعد الشهري فيها اهم المواضيع ركزو عليها
 
chapter 8
 
صفحه : 1
6+7 مررره مهمه
11+12
26 the idea of an english academy مررررررررررره مهمه
 
characteristice of american english 
 
 
 بالتوفيق ياااااااااااااااااااااااااااااااا رب وفالكم النجاح بجميع المواد
 
 وبلييييييييييز بنات خلونا نتعاون وكل وحده يوصل لها اي شي ببساطه تسوي فورورد للسته
 
 
في بنت ثانيه قالت بنات انا اتصلت على بنت متخرجه وسالتها عن امتحان الهيستوري وقالت لي انها جابت لهم الاختبار على هيئة 3 اسئله

السؤال الاول : اسئلة قصيره جدا ممكن يجي منها اعطي مثال
اللي تذكرته البنت بس سؤال عن الآيدا في انجلش اكاديمي جا منه سؤال قصير

السؤال الثاني 3 شورت نوتس نجاوب 2
جابت لهم عن كلمة chef الظاهر انو كيف صارت بعدة اشكال << ترى لسه ماوصلت لها بالمذاكره خ خ خ [image: image6]
والثاني عن الهندردز يير وور << طبعا مو معنا لان الملزمه اللي هو مكتوب فيها محذوفه منا
والثالث ماتذكره بس تقول يمكن الناشونال فيلينق اللي تحت وحده من البروبلمز

السؤال الثالث المقالي .. فيه 3 اسئله ونختار 2
بس قالت انو فيه سؤال فيه فقرتين وحده من الشام ووحده من اليمن هههههه يعني كل وحده بمكان مو لازم مرتبطين فبعض

قالت جابت عن الهيستوري اوف امريكان انجليش
و تعدادات .. اتوقع انها بتجيب اللي عن شكسبير دام فيها تعدادات
 
 

بدورها وصفتهم بالغباء و هذا شي لا يليق باستاذة في مثل مكانتها

ثالثاً : صياغة السؤال الأخير الي عن Mulcaster's system ترى فعلاً كانت صياغته غامضة ..

كان مكتوب Don't qoute more than two examples

و احنا طول فترة دراستنا في الكلية تعلمنا نفرق بين الـ main point و بين الـ supporting example 

و الـ 11 نقطة حقت مالكاستر كانت main points و كان جنب كل بوينت كلمة او كلمتين كـ example يدعمها ..

مثلاً كلمة putting تدعم نقطة الdouble consonants الي كل واحد منهم يتبع syllable 

و ترى مو اول مرة مسز بتول تعجز عن توضيح المطلوب من خلال السؤال

اذا تذكرين ..
في الـ mid جابت سؤال عن الـ geographical position of the Midland district

بينما كانت تقصد الـ midland dialect

و كلمة district كانت مكتوبة في السؤال .. مش لأن البنات ما فهموه
===============================    ===================================================

اسئلة تاريخ اللغه معظمها كان من الملزمه الاولى :

اول سؤال :

مثال واحد :

extension-

similarity between english and german-

-historical evidence that indo eurpian was found

-المعنى مااتذكر بالضبط (انو كلمه كان فيها rthym و بعدين مافيها )مادري كيف اجيب السؤال والله
لكن سمعت البنات يجاوبون believe ومادري ايش 

- ماتذكرها 

السؤال اللي بعده كان عليه 5 درجات 

what is kentum and satem

بعدين جانا سؤال اظن عليه 3 درجات :

language family +examplesتعريف
السؤال اللي بعده عليه خمس درجات وكان من ضمن الاشياء اللي كتبتها نقلتها مس بتول للبنات
the devolement of English or England words

اللي بعده كان عليه 3 درجات :

-give any 3 charactristics of old english

بالتوفيق ان شاالله
دورنا الحين ....

مثال واحد على: (5 درجات)

linguistical evidence that indo european found تلقونه ص 16
omission

اسمين حق بريطانيا قبل لا تكون england

اي من السبع الممالك اقوى في القرن 7 و ايها بالقرن 8
اي لغه تاثرت بلغه ثانيه من ناحيه القواعد (تذكرين اللغتين و مين اثرت مين)

(2 درجه) كيف يكون التغير الليfirst language interference 

عاد شنو تبينا نكتب بثلاث اسطر ؟ ما ادري
(2 درجه) اكتبي اثنين من characteristic of the old english pronunciation

(5 درجات) romanization of england before anglo-saxon 

8 اسطر
المطلوب هو قبل الانجلو سكسون ترا راح ندرس بعد الانجلو سكسون
(6 درجات) how are dialects are formed?

8 اسطر
GOOD LUCK

you will need it

==========

اي لغه تاثرت بلغه ثانيه من ناحيه القواعد (تذكرين اللغتين و مين اثرت مين)

وييين هذه بأي درس ؟؟؟
هذي بصفحه7 بالملزمه اخر سطر و نص
latin syntax influenced the structure of english in the old english period

(5 درجات) romanization of england before anglo-saxon 

8 اسطر
المطلوب هو قبل الانجلو سكسون ترا راح ندرس بعد الانجلو سكسون
هذه اللي بصفحة 46 ماغيرها ؟؟؟
اما هذي تلقينها بالكتاب اسم الارتيكل الحقيقي romanization of the island

=========

عجبتني آسئلة مس بت
ول اليوم مآآآآآآره ..

طبعآ حضرتي آقتحمت كلآس 9 ونص وآختبرت ويآهم ..

بآكتبهآ دآمي متذكرتهآ ..

السؤآل الآول 5 درجآت 

آعطي مثآل وآحد على :

Kentum language & Satem Language

Assimilation

weak verb (for proto Germanic(

Lingustic evidence that Indo-European lived in cold climate

the answer should be sentence

Old English Dialects

السؤآل الثآني 5 درجآت
Social and Cultural Role

السؤآل الثآلث 3 درجآت
Define a synthetic Language + 2 examples

السؤآل الرآبع 5 درجآت 

مو متذكره صيغته بالضبط How the Germanic tribes invaded Britain + unsettled their native population

السؤآل الآخير درجتين 

what do u know about silent letters and double letters in old english give examples

معطيتنآ سطرين بس
==================

اسئلة امتحان الهيستوري كانت:

مثال واحد على :

kentum satem

(طبعا المقصود تذكرين اسم واحد من الدول )

2-change word order

3- innovation of proto-germanic (weak verbs

4- social and cultural words

5-

السؤال الثاني فيما معناه (divergence level) هم نقطتين موجوده في الملزمه الاولى اظن تبع درس language family

السؤال الثالث:

تعريف analytic +2 examples

السؤال الرابع:

تكلمي عو تاثير الرومان على england +language

الخامس :

old charstritics of ols english spelling and pronunciation

====================================    ========================

Loss of influence 

- its important to recognize that in many words the English and Scandinavian languages different chiefly in their inflectional elements .the body of the word was no nearly the same that only the ending would put obstacles in the way of mutual understanding .

- In the mixed population which existed in the Danelaw these ending must have led to much confusion , tending gradually to become obscured and finally lost . This tendency towards loss of inflections happily simplified English grammar . 

--------------------------------------------------------

Norman Conquest 

The Original of Normandy 

- Normandy is a district on the northern coast of France , Band of North men settled there in the 9th and 10th centuries at the same time when similar bands were setting in the north and east of England .

- in 912 , France recognized Dane's occupation of Normandy and Danish leader Rollo accepted Charles the simple as his overlord and became the first Duke of Normandy 

England at the time of Norman Conquest 

- The English king Etherlred had married a Norman wife . When he was driven into exile by Danes ( Cnut ) , he took refuge in Normandy . Was more French than English . 

- in 1042 , when the Danish line died out and Edward known as the confessor was restored to the English throne , he brought with him a number of Norman friends and gave them land and important place in the government , a strong French atmosphere pervaded the English court during his 24 years reign . 

- These Normans were not liked by the more powerful Saxon nobles , particularly by the most powerful family of Wessex , the Godwinsons.

Edward's Contribution to England 

- Edward, known as the confessor , was more interested in the church than in king ship . 

- Church building had been going on far over a century , and he encouraged it .

- The pattern of the English village , with its manor house and church , dates from this time . 

- Edward started a new church fit for a king at Westminster , just out side the city of London . 

- By the time Edward died there was a church in almost every village 

The Issue of Succession 

- Edward the Confessor died childless. Harold son of Godwin , the Earl of West Saxon , was an influential figure . he was a shrewd capable man and had acted as Edward's principle advisor , Except for one brief interval , he had been the virtual ruler of England until the time of Edward death . 

- After Edward , he was selected as the king of England . 

- Harold's right to the English throne was challenged by William the Duke of Normandy . 

- William was the second cousin to the late king .

- Though this relationship did not give him any right of inheritance to the English throne , yet he had been living in expectation of becoming Edward's successor . 

- The only way to achieve this goal was the use of force . 

- A third claimant to the English throne was the king of Norway .  

Preparation of Attack 

- having determined upon his course of action he lost no time in beginning preparation . 

1- He secured the cooperation of his vassals by the promise of liberal rewards once England was his . 

2- He came to terms with his rivals and enemies on the continent . 

3- He appealed to the Pope for the sanction of his enterprise and received the blessing of the church . 

The Battle of Hasting 

- getting no help , Harold hurried south and stationed his army on a broad hill at Senlac , not far from Hasting , and a waited William's attack . 

- William's army though small was better armed , better organized , and was mounted on horses . But 

- Harold's position was advantageous so his army stood its ground . 

- William restored to a desperate stratagem . He ordered a feigned retreat– The English fell into the trap . Thinking the Normans were really feeling, apart of the English army started in pursuit . But the Normans made a stand and the battle was renewed on more even terms . 

- After Harold and his brother were killed the English army retreated . 

- William marched to London , which quickly gave in when he began to burn villages outside the city . 

- He was crowned the king of England in Edward's new church of Westminster Abbey on Christmas day , 1066 . 

The outcome 

- One outcome was the introduction of a new nobility , Many of the English higher class had been killed on the field at Hasting . those who escaped were treated as traitors and the places were filled by William's Norman followers . 

- In 1072 only one of the twelve earls in England was an Englishman , and he was executed four years later .  

- For several generation after the conquest the important position and the great estates were almost always held by Normans or men of foreign blood. 

The Language 

- For two hundred years after the Norman conquest , French remained the Language of ordinary inter course among the upper classes in England . The aristocracy whether from English origin or French spoke French . 

- The Language of the masses remained English . 

- The result of the Norman conquest was that it 

1- Lost inflection 

and 

2- Gained vocabulary 

